/DVIRB

3UDFRZQLN 5RINiDG  3DZHiF]\N ODWHXV] 7\J

7\
% ODIDWIZR (DE DGLXQNI %HEH! - DUDQNLHZLF] %HDID DGLXQNI )UgF]HN %DUIRV] DGLXQNI -DNXERZVNL -DNXE
"D" DGLXQNI /XERV $UIXU 3DZHiFJ\N ODIHXV] = DZUJNHZLF] $UIXU = z ot - 2:%$0/
=3 2:z$0/ 2:z$0/
% , JUXSD O$/$567 = 2 %HDID %HEH! JRG]LQ PDUFD  FJHUZFD JRG]
6“ NZIHFIHE PDID  $UIXU = DZUINHZLF] JRG]LQ PDID F]HU_ZFD FJHIZFD JRG] ,,
T JUXSD O$/$567 = 2 %DUIRV] YUaFJHN  JRG]LQ ODUJHF _ZIHFHE  &JHUZIHF K SUXU
n = DZUINIHZLF] JRG]LQ PDUFD -DNXE -DNXERZVNL JRG] FJHUZFD  $UIXU /XERV JRG]LY
NZIHFIHE PDIl FJHUZFD  JRG]
=
n
oD
O
AN
ODIDWIZR SUDFRZQLD GR Z\ERUX (DE DGLXQNIl )UgF]HN %DUIRV] DGLXQNI
-DNXERZVNL -DNXE PJU -RVHID 7DGHXV] PJU = DUZDV -XVINQD
3DZHF]\N ODIHXV] 3URI $-* *RZDFNL -DQXV] SURI $-= .DUDQNIHZIF]
= {RG]LPIHU] SURI $-* -DUJHPVNL ODUDQ SURI $-" _XIHI = iRG]LPLHI]
SURI ]1Z -ZHFIFK -DURViDZ = DZUINIHZLF] $UIXU = z ot
z : z $ - z z 2:z$0/
P 2:z$0/ 22$00 6= -:$00 6= ::$00 6=
% SUDFRZQLD, SURI -DURViDZ . ZHFILFK PDU]HF B NZIHFIHE
[a) PDI PJU ODIHXV] 3DZHiF]\N NZIHFIHE ~ PDI
N 3UDFRZQLD ,, SURI $-= ODUDQ -DUJHPVNL PDUIHF . ZIHFHE
'LT oDl &]JHUZIHF PJU ODIHXV] 3DZH:F]\N
NZIHIQD 35%&2:-1,%,,, 3URI =iRG]LPLHU] - X(HI PDUJHF
. ZIHFHE oD &JHUZIHF
35$&2:1,$,9 SIRI $-" -iRG]IPIHI] . DIDQNHZIF] PDUHF
NZIHFIHE PDI Gl %DUIRV] )UaF]HN PDUHF PDI
FJHUZIHF K PJU-XVINQD = DUZDV NZIHFIHE PDIl
FJHUZIHF K 35%$&2:1,$9 SIRI $-~ -DQXV] 5DIDi *RZDFNL
_ ZIHFIHE (e]]] &]HUZIHF GU -DNXE -DNXERZVN
PDUJHF &JHIZIHF
AN
ODIDWIZR SUDFRZQLD G\SIRPRZD (DE DGLXQNI )UaF]HN %DUIRV] DGLXQNI
-DNXERZVNL -DNXE DGLXQNI 6¢RID =DUXV] PJU -RVHID 7DGHXV] PJU = DUZDV|
-XVINQD 3DZHiFJ\N ODIHXV] 3URI $-= *iRZDFNL -DQXV] SURI $-~
_DUDQNIHZLF] = éRG]LPLHU] SURI $-= -DUJHPVN. ODUDQ SURI $-" _ XMHI
Z{RG]JLPIHU] SURI ]Z .ZHFIFK -DURViDZ = DZUINIHZLF] SUIXU = z
- - z z $ = z - 2:%$0/
2z$0/ 2z$00 6= 2:$00 6= -:$00 6=
= 35%$&2: Zl_.,$ , SURI -DURViDZ . ZHFILFK ODI JRG]LQ_ RUD]
< 1DICFD  JRG]LQ\ &JHUZIHF DIGFLD WZDig
(% JRG]LQ\ . ZIHFIHE PJU 7DGHXV] - RVHID ODUJHF - ZIHFH
] 35%&2:-1,%,, 3URI $-" ODUDQ -DUJHPVNL PDUIHF
n NZIHFIHE PDI =$-8&,$ *2"=,1< PJ

ODIHXV] 3DZHFI\N . ZIHFIHE
3Rl ziRG]IPIHU] - X0HI
=$-6&$ *2"=1< "U "DUXV] 6iRID ODUJHF . ZIHFIHE
OJU $UIXU = DZUJNIHZIF] ODUJHF 35$82:1,%,9 SIRI $-"
- i{RG]IPIHU] .DIDQNIHZIF] PDUJHF  NZIHFIHE  PDI - "U%DURV]
YUaFTHN PDUTHF PDI  FJHUZIHF PJU -XVI\QD = DUZDV
NZIHFIHE PDI  35$&2:1,$9 3Rl 5DIDi *RZDFN.
JRG] . ZIHFIHE oDl JRG]IQ JRG]IQ\ FJHUZIHF
" -DNXE ~-DNXERZVN. PDUJHF

SR JRG]IQ 35%$&2:1.%,,




/DVIRB
3UDFRZQLN SRINADG  3DZHiF]\N ODWHXV] 7\J

6R




